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Candidates should answer in their own words as much as possible.

9t ueet siforart 3

All questions are compulsory.

Dt Uil bl 35T 48 Bl

Total number of questions is 48.

%l 1 A 25 AP SEIADICURI Ul & | Ucdd Ul & R fawocu 6w a1g 31 &l
fereu o1 TrRI6l BRI URI® Ut & fere 01 3iw forerifya 3

Question No. 01 to 25 are multiple choice questions, each question has four options. Select the

correct option. Each question carries 01 mark.

%G1 HIRAT 26 A 34 b Hfel o a1 usel 31 fSrR1d A fepodl 7 ussil I 3R Soll
3iforari 31 Ui Ul I 3ol | 3ib forerifa 3

Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to
answer any 7 questions. Each question carries 01 marks.

%1 IHICAT 35 A 42 D o Fe usel 3l f5r1d1 A fbodl 6 Uil @I IR ol
siforart 31 Ui sl oI 3ol 3 3ib forerifsa 3

Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to answer
any 6 questions. Each question carries 03 marks.

U IRSAT 43 A 48 St I3 utol 31 fepadl 4 UGl &I IR Soll Stforari 31 Ud
U1 1 3Tl 5 3 forerifa 31

Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4
questions. Each question carries 05 marks.
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1. o1t 3 A BIoI-AT AR BT UDR &7
(Which of the following is a type of opportunities?)

(a) u=Itazur 3 fdemirer sra=1z (Existing opportunities in the environment)
(b) forfdte a1z (Created opportunities)

(c) Sutp a1 a & Gleil (Both A and B above)

(d) SuRltp of 31 3R & (Neither A and B above)

2. i AGRIAT S

(Subsidy is)-

(a) I=IRIe (Concession)

(b) @g1 (Discount)

(c) Yot: 8paIcIIol (Repayment)

(d) so1dt 31 IS ol (None of these)

3. 3nfdi ofiferit forerifya ol
(Economic policies determine the)-

(a) crar= &1 #ir1 (Volume of Business)

(b) =ra=1rRI I f&om (Direction of Business)

() a1 1 fSom vd A>T (Direction and Volume of Business)
(d) so1di A IS o1l (None of these)

4. fordol 3 A Dlol-Al TP ISR ACATD! UL UHI SIcIell 37
(Which of the following factors affect market assessment?)
(a) 1&g ararazur (Micro Environment)

(b) 3curs i ceKd (Production Cost)
(c) #tsT (Demand)
(d) so13i A1 IS o1l (None of these)

5. fo1dot 3i A1 fepIADI IcUIS AT AT DI Yolld DIA A EATol IM6II SIe3 3?
(Which of the following factors is to be considered while selecting a
product or service?)

(a) ufernfdrar (Competition)

(b) 3curcet ctrore (Cost of production)
(c) 91 b Jearae (Profit possibility)
(d) 3ugep it (All of the above)

6. IUmH DI Jolld forsiz D 31

(Selection of an enterprise depends on)-
(a) uprhl wmurz (Sole Trading)

(b) &ttt o1 siférd1R (Right of Entrepreneur)
(c) 18t &t Fa=i oI =Meerer (Self-Ability of Entrepreneur)
(d) SuRItD ¥ 3 IS ofél (None of these)
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7. U AWl 32wl 3 319 8l fotdol 31T Blol nfdul
(A successful entrepreneur must possess the quality of the following):
(a) ofcgea @I (Leadership)
(b) forzres1ur @1 (Control)
(c) orauaciat &I (Innovation)
(d) sotai 31 2t (All of these)

8. foriSiol Bl 3
(Planning is)-
(a) srcucIctiel (short-term)
(b) Fre=1PICtol (Middle-term)
(c) Sieipretiot (long-term)
(d) 8t 3raférli o fe1e (for all terms)

9. uw ul¥iision 3
(A project is)-
(a) rferfaféril o1 2918 (Cluster of activities)
(b) wapet arfeifdfdr (Single activity)
(c) SRic sifeifdferl ol A9s (Group of innumerable activities)
(d) so1dt 31 IS ol (None of these)

10. uf¥=AISIel & GRIR B0l U RIRI {61 SRIT €161 &
(Money spent on the preparation of project is)-
(a) faforistal (Investment)
(b) =R (Expenditure)
(c) 3rurI (Wastage)
(d) so1dt 31 IS ol (None of these)

11. foraot 3 21 Bl FATeIGII BT UBIR Ud HIA 3?
(Which of the following is a kind of resources and their sources?)
(a) silferap Jrerat (Physical resources)
(b) Adolichl 3=rerat (Technical resources)
(c) sarerdi=r J31rerel (Human resources)
(d) 3wl 2t (All of the above)
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12. Figep Uil arcil swaueit & fere cmstior 3ot &
(For a joint stock company payment of dividend is)-
(a) dfew® (Voluntary)
(b) siferart (Compulsory)
(c) smmagerd (Necessary)
(d) so13i A IS a8t (None of these)

13. ®riofict gsil @I foreriza 3
(Determinant of working capital is)-
(@) 31=em o1 3P (Size of the enterprise)
(b) forsitur ufeben bt srafer (Period of manufacturing process)
(c) ToTa JATet i 3uctserdl (Availability of raw material)
(d) Su=itp 218t (All the above)
14. areg arFufer 3 onfdret alar 3-
(Current Assets include)-
(a) 3uz®dz (Furniture)
(b) faforiler (Investment)
(c) Zceter (Goodwill)
(d) Soter= (Debtors)
15. foreaafciRae 3 21 Diol-AT JcIcTol R oldl 67
(Which of the following is not an Operating Expense?)-
(a) fasmmuot &*rRI (Advertising Expense)
(b) urfdsic Rl (3rufetlR¥ae) (Preliminary exp. written off)
(c) #SIGdt (Wages)
(d) foo2r= (Rent)

16. 3i91GIol =

(Contribution)=

(a) fechl @reta el eIeI (Sales Less Total Cost)

(b) fdcht aera uf¥aderoflct cera (Sales Less Variable Cost)
(c) ferchl aera 3¢z el (Sales Less Fixed Cost)

(d) o1t A @IS o1l (None of these)

17. Jereft Gt 3 5a1 -

(Venture capital contains)-

(a) 3Ta sif3ae (High Risk)

(b) 28R Siif¥a# (Venture Risk)
(c) ooIs Siif¥aet o1t (No Risk)

(d) 3013t A1 I3 o1l (None of these)
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18. uacer @t 3-

(Management is an art of)-

(2) >a=1 @19 Dot oI (doing work himself)

(b) g1 3 w1et clat I (taking work from others)

(C) a2 1 B2l Bd G231 A D1 clol gloil I (both for doing himself work and taking work from

others)
(d) so1di A IS o18t (None of these)

19. IR & fere fauure 3-
(For business, marketing is)-
(a) stferart (compulsory)

(b) stragRra (necessary)

(c) 3telrag=ad (Unnecessary)

(d) fremR¥ae (luxury)

20. S1Us gdclIdI -

(Brand indicates)-

(a) & (Symbol)

(b) f&sIrIet (Design)

(c) ot (Name)

(d) sorat 2 2t (All of these)

21. cIrsiiorn -

(Dividend is)-

(a) 9Ig ot (Net profit)

(b) 1191 o1 forRIISIor (Appropriation of profit)

(c) I @I (Reserve fund)

(d) arfareaf¥a emer @ 3ior (Part Of undistributed profit)

22. FAIICIGT DI 312k 3-

(Merger means)-

(a) e vl GIRI G2 AvIGel Dl ol cloll (Taking over one organisation by another organisation)
(b) Gl =11 3iféred cramrRIi @I f21ur (Combination of two or more business)

(c) 3101 3vTodl Ji foRIeaId 3191 UTH 2ol (Acquiring controlling interest in other organisation)

(d) 3udep 3 A IS o1dl (None of the above)
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23. 3ezpft & ciffca &-

(Responsibility of entrepreneur's are)-
(a) 3391151 &6 Ufer (Towards society)

(b) 3@ & ufer (Towards Governments)
(c) weIfazur & ufer (Towards Environment)
(d) so13t 21 18k (All of these)

24, uf¥=Aistoln aRIR o Sl 3-

(Project is prepared)-

(a) uacii g1 (By Promoters)

(b) usGell g1 (By Managers)

(c) 3ewdl g1 (By Entrepreneur)

(d) so1 218t O gI=1 (By all these)

25. uf¥AIstoll Uferdgel JARIN 3-

(Project report is a summary of)-

(@) exe=di o1 (Facts)

(b) 3xTretisi @1 (Informations)

(c) faec>wur b1 (Analysis)

(d A 1sft (All these)

B{ﬁl?l'g I Uy (Very Short Answer Type Questions)
26. FIHTERT o ITHTH H FIFATI fohodl 2 Teehl & A1 TSl
(Name the two factors that are involved in sensing opportunities.)
27. AT T FEa 87
(What is demand?)
28. 3UshH I TUTIAT H I0TAI T AT HTT 87
(What does the strategies mean in setting up of an enterprise?)
29. GH-TaTte fa2eivuT &7 82 I ha ATd foham STTdT 87
(What is Break-even analysis? How is it calculated?)
30. TqUUT &1 37 SaTET|
(State the meaning of marketing.)
31. oreTd fohd hgd 872
(What do you mean by cost?)
32. Ueh 3IH GHTST H T Yo T 87
(What is acquired by an entrepreneur from the society?)
33. 37aE fohctel Wb o Bl &7
(What are the kind of opportunity?)
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34, HTgTAh GTAAR & Gglel hl ITARIHT T 52

(Why identification of entrepreneurial opportunity is needed?)

g ST UY (Short Answer Type Questions):- 6x3=18
35. IRIATSTT fatete & Affea YR Fid-Hla T §2

(What are the various types of project planning?)
36. TS 3T FIT ST &2

(What is the significance of profit ratio?)

37. 3ETAT Yai @ 31T A1 FASA 82

(What do you understand by venture capital?)

38. Y& I 15 I/ diet favare sasul

(Write any two / three characteristics of management.)

39. EreIhTelIeT T STEHTeNeT faeiiar He 7T 82

(What are long-term and short-term sources of finance?)

40. IRIISTAT & HTT FIT THSTA 872

(What do you mean by project?)
41. Y=Y T GRHATIT SITTT

(Define management)

42. TGRS T T ggdled &l FHIAd el aTell gcah ahisT-shisT T gl

(What are the factors that influence the identification of a business opportunity?)

S ST Uy (Long Answer Type Questions):- 4x5=20

(Discuss the requisites of successful enterprise.)

43, TSI ST aReTST & va sehr favare sdasul

(Define planning. What are its features.)

44. Tk Frgdr & o IRASar ufadess ga1ar 41 39« &7

(Why the formulation of project report essential for an entrepreneur?)
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45. YT o Aol JepRT T quTel Y|
(Explain the different kinds of capital)
46. 9= 1 GREATT ST Td sHA GHE FAATATT HASATST

(Define management and describe its essential characteristics.)

47. TAATSTeT ST IRATT & U SHhT TAATATT SA18U]

(Define planning. What are its features.)
48. Uk S TAATT B oildel Bidd B [Afdest 3razenaii &1 avia @2 ?

(Describe the different stages of life span of a new business?)

SIRAUS ISP 3foRielel ud Ufdrgiur ufdg, it [t udtei) [3031 : 2023- 2024] Page 8 of 9



ANSWER KEY

CLASS-12

SUBJECT-ETP

O

ANSWER | Q.NO. | ANSWER
19
20
21
22
23
24
25

O|O0Oww g|l>

O[> Wm@0O g>»0>>0000>000

(TG Y U [ N IR FER R P
o|~No|a|s|w|N|R|o|@®N|@ UM WIN I Z

SIRAUS ISP 3foRielel ud Ufdrgiur ufdg, it [t udtei) [31 : 2023- 2024] Page 9 of 9



